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ёх · 4 = 80 – 56 
НАЧАЛО

ПОСЧИТАТЬ

НАЙТИ НЕИЗВЕСТНЫЙ 
КОМПОНЕНТ

6 ПОСЧИТАТЬ

х · 4 = 24
х = 24  : 4
х =



Проверка
6 · 4 = 80 – 56  

ПОСЧИТАТЬ

ПОСЧИТАТЬ24 = 24
6 · 4 = 24



(18 + 5 4) : а = 8

НАЧАЛО
Расставить порядок 

действий

НАЙТИ НЕИЗВЕСТНЫЙ 
КОМПОНЕНТ

ПОСЧИТАТЬ

21

ПОСЧИТАТЬ

72 : а = 8
  а =  72  :  8
  а =  9



Проверка

(18 + 54) = 8: 9
Расставить порядок действий

21

ПОСЧИТАТЬ
72 : 9 = 8

ПОСЧИТАТЬ
8 = 8







ФРЕГАТ



БРИГАНТИНА





Б
Ф
К

6 бр.

19 кар.

? кар.







Р = (а + в) ·2 

Р = а + в + а + в 

Р = (а + в) ·2 



5. Вычисли:

9 дм – 1 дм 6 см – 2дм 7 см=

= 90 см – 16 см – 27 см=

= 74см – 27 см= 47 см= 4 дм 7 см


